134CS

Based on

BE
Qbeta-
Qbeta+

Z =55 N =179 adopted link, |[ENSDF link

ENSDF from Oct 2022, and mass evaluation from 2020

1125.419 ( 0.000) MeV
2.059 ( 0.000) MeV
1.235 ( 0.000) MeV
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Energy T J+ J- J-other T1/2

| 0.000 4+ | | 1 2.0652 Y 4
| 0.011 5+ | | 2 46.6 NS 6
| | |  0.060 (3)+ 3

| | 0.139 8- | 4 2,912 H 2
| | | 0.174 (2,3)+ 5

| | | 0.176 3-,4- 6 49.7 NS 8
| | | 0.177 (+ 7

| | | 0.190 (3)+ 8

| | 0.194 4- | 9

| | | 0.198 )+ 10

| | | 0.210 (4,5)+ 11

| | | 0.234 3+ 12

| | 0.257 6- | 13 12.3 NS 11
| | | 0.268 4-,5- 14

| | | 0.271 (2,3)+ 15

| | | 0.291 (2)+ 16

| | 0.344 7- | 17

| 0.377 4+ | | 18

| | 0.383 6- | 19

| | | 0.434 6-,7- 20

| | 0.450 5- | 21

| | | 0.451 (3)+ 22

| | | 0.454 3+, 4+ 23

| | | 0.484 (3,4)- 24

I | | 0.503 (3,4)+ 25

| | | 0.519 (3,4)+ 26

| | | 0.540 (3,4,5)+ 27

| | 0.571 4- | 28

| | |  0.579 (2,3)+ 29

| | | 0.584 (2,3)+ 30

| | | 0.613 (4,5)- 31

| | | 0.622 (2,3,4,5)+ 32

| | | 0.624 (5)- 33

| | | 0.641 34

| | 0.644 4- | 35

I | | 0.653 36


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=134Cs
https://www.nndc.bnl.gov/ensdf/
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S-2n =
S-alpha=

S+p

S+n
S+2p
S+2n
S+alpha

gap p

gap n

gap 2p
gap 2n
gap alpha

15.881 ( 0.001)

2.380 ( 0.003)---

= -8.248
= -8.762
= -13.724
= -15.590
= -2.047

-1.712
= -1.870
2.042
= 0.291
0.333
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